Name:

( Missing Number Mysteries )

Subtract to find the missing addends.

example: 50 + = 98
28
-50 So we know..... 50+ H8 = 98
48

Find the missing addends. Show your work.
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Preview

Please log in fo download
the printable version of this worksheet.

39 + = 71 /8 + = 150

/2 + = 85 1,030 +

2,632
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ANSWER KEY

(' Missing Number Mysteries )

Subtract to find the missing addends.

example: 50 + = 98
28
-50 So we know..... 50+ H8 = 98
48

/2+ 13 =85 1,030 + 1,602 = 2,632
85 2,632
_ 79 - 1,030
13 1,602
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